
9.1 f 

9.2 tufs ajuo 

9.2.1 

84 x+3, y-5, 4x + 5, 10y-5, guft t HRG As ajoi RT B 

(b) 

(c) 

W7F3M8 

175 

y 



9.2.2 

3* + 2xy + 9y² 

lL-7+5 

3r, 2ry, 9y? 

8x 

ZH f (4r-7xy) À Y¢ 4x 3r -7xy | yG 4x'; 4, x 3tR x T 

8x'-3x+7 
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-3x 

3r =3 Xx Xx 
2xy =2 XxXy 

9y' =9 xyxy 

9x²+2x-3 9x, 2x, -3 
6x 

8x-7y 
6 

7(x+y)+9 

3, 2,9 



9.2.3 T 

Terms) 3IÀ t ajTA 2xy-3x + 5xy-4, ò Yd 2ry 3tr Sxy t fayi 

9.2.5 jo yOTR 

1 

2. 

3 

4. 

¿| G0- 9x, 3x*, y , 8ry, 8 ,0, 3(x+y) 3tf| 

}I G 3x+2y, x-9, a' + ab 3fa| 

}I S- 9x-3x+2, xty+z 3TI 
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JGIEZUL-1. 34TRG faf GR (a) (3x-4) Vd (b) 2-4 T ufS SIT | 
Bd: (a) 

) 

(m) 

JU-Ts 3 

(iv) 

JGTERU-2. 9xyz +3 À x, xy, xyz, 9xy, 9xz, 9yz oT IUiG ^IT iGY I 

9xyz 

3ab,3b 

3ab, 
3b 

3a, 
-21b 

17a, 
-6a 

gryz + 3 

jG, 3x-4 

3ab, 
3ab? 

) 

3 ×b 

3 ×a 

3xaxb f 

-21 x b 

17 xa 

-6Xa 

-4 

(a) x I Ti# 

3a,-21b (i1) 

3xaxaxb 
3xaxbxb 

(b) 
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17a,-6a 

ajya 2r'-4 

(iv) 

-4 

3b, 2ab? 



5. 

6x+9. X+y+1, 9x, 8x +7x+2, 2, -5x-y, 4-x, 4-x, 8y´, 2xy, 

3x'y-1 
yoyt - 9x, 2, 8y, 2xy 

faya a - x+y+1,8x +7x+2 

(a) 

(d) 

(a) 

(d) 

5x +2 

6x49, -5x-y, 4-X, 4-, 3x'y-1 

(a) 

(b) 

m-n-1 

+ 2r + 1 

ab-9 

yA-9.1 

(b) 

(e) 9xtyz 

(b) 

2ab + 1 

(e) 

8a + 1lab- 2b2 

8ab-3b 

(c) 

12ry (i) ry, (ii) x TT y I Jois AdIgYI 
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2r'y-1 + 2x 

(c) 

9xy, 8xy, 3ab, 7ba, Tab',-4b, 7a, 7, 1la,-1la', 2xy,-2xy, 8ab,-24,-2, 1, 
*, 3x, &x, 8 

9p²-4q 



(c) 

(d) 

(e) 

m yd n tuh T TOT 

HT = 2+ 2 + 2 

= 2x3 

= 6 

HET = 2+ 2 + 2 + 2 + 2 
= 2x 5 

= 10 

3 

= 2+ 2 + 2 + 

=2 X n 

= 2n 

hi heiHÌ T HT = 3n + 8n 

= 11 x n 

+ 

= 1ln 

X 

+ 

+ 

= (n +n+n)+ (n + n + n + n +n+ n+n+ n) 

" (2n oT ugS 2 Xn ) 
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UEÍ HHTH YGÌ 3n yd 8n Gg qr yr 11n HIT BÍ 3n T 3, 8n 

-3x = 4x 

JETETU-5. ) 

Gii) 

(v) 

7x-3) 

:1x-3) =3 
= 7x+3x 

= 10x 

-7x -3x oi GG| 

--7x + 3x) 
."+1x(-3) =3 

=-7x- 3x 

":-7-3=-10 

=-10x 

=-12m+ 6m-7m + 4m 

=-12m-7m + 6m + 4mn 

=-19m + 10m 

-12m, 6m, -7m yq 4m i sfG| 

-12m + 6m + (7m) + 4m 

=-9n 
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iv) 

G) 
Sd:-7x- (-3) 

-7x -3x o Eert 

=-7x+ 3x 

(-7+3 =-4) 
=-4x 

&x,-3x, 7x Ggy| 

Bd: 8x + (-3x) + 7x 

= 8x-3x + 7x 

= 8x + 7x�3x 

= 15x�3x 

= 12x 

(:"-12m-7m =-19m) 
(6m + 4m = 10mn) 



1. 

2 

3. 

4 

= (3 

= 3 

=3 

=7 

BGIEYu-t. ) 

+ 2 ) + (4 

+ 2 

+ 4 À + 2 

+ 7 

4 

d: (5x + 6y) + (&x +9y) 
= 5x + 6y + &x + 9y 

+ 5 ) 

5x+ 6y 8x+9y vIg| 

= 13x + 15y IT E3TI 

+ s 
+ 5 

482 

8x+9y 
13x+15y 
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G1) 7ab + 4a a+8ba i GI 

iv) 

(7ab + 4a) + (a + 8ba) 

=7ab + 4a + a + 8ba 

=7ab + 4a + a+ 8ab 

= 7ab + 8ab + 4a + a 

= 15ab + 5a 

7ab + 4a 

Q +8ba 

(i). 13m- 4ry 12ry + 4m yer 

(13m²- 4xy)- (12ry + 4m) 

= 13 m²- 4xy- 12ry- 4m² 

= 9m- 16xy 

= 13m² 4m?- 4xy- 12ry 

qHe faf : 

Tab + 4a 

8ba + a 

13m- 4xy 

9m? 

4m + 12ry 

(3r- y +6)� («- y) 

= 2; + 6 

=3x- y +6-x+y 

3r- y+ 6 -y tl 

=3x- x-y+y+6 

(.: ab =axb=bxa=ba) 

(a= la) 

16xy 

7ab +4a 

8ab +a 
15ab +5a 

(-y+y) 



(v) 

1. 

2 

3. 

4. 

3a + 4b-7 À 8a+ 4b² sf| 

(3a + 4b-7) + (8a + 4b) 

=3a + 4b -7+ 8a + 46? 

= 3a + 4b -7+8a' + 4b? = 8a' + 4b? + 3a + 4b-7 

(a) 

(c) 

(e) 

(g) 

(h) 

) 

() 

(a) 

(c) 

(d) 

(e) 

(a) 

(b) 

6ab yd 7ba 

x yd y-4 

3ab -b d 3b - ab 

yde-9.2 

3x+ 11 + 8z yg 5x-7 

3a 

a?+ 2ab+ b? y¢ a'-2ab + b? 

ab + ab + ab² q -ab + 2ba + 2ab? 

-7a' 
a² + 2ab + b? 

b(8-a) 

-y-1, y -1-* yd 1--y 

a'-2ab + b² 

(b) 

a (b-3) 

(d) 

) 

a'+ ab +b² + a'+ b- ab+3 
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3xy -2x-2y² Sr-7ry + 5y² 

(b) 

4xy- 7xy-6xy + 2yz'- 4y'z-3yz? 

8r'y yd -4r'y 



5 

6 

4 

3 X 4 

= XX y 

= X) 

+ + 

+ 

t hA4 = 2x x 3y 

=2x3 XxXy 

= 6xy 

= 2m x 3m 

4 

=2x3 × m × m 

= 6m? 
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+ 
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6. 

6) 

1. 

2. 

3. 

4. 

(1) 

Gn) 

-3 

(a) 

2a 

(ta) x (+b) = +ab 

(ta) x b) =-ab 

sf gyc ao t fa) x -b) = +ab 

a yd (b+c) T 

(d) xy (9+8x) I 
(b) 
(e) 

a yT (b-) I 

-x d (4x-y) T 
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xy 

(c) -3m yd (-6m-7n) T 



Ei: (a) 

2. 

(b) 

(c) 

() 

(e) 

(a) 

(c) 

(e) 

(g) 

) 

(a) 

(b) 

(c) 

(d) 

(a) x (b+ c) =a xb+axc 

(a) x (b- c) 

= ah + ac 

=axb- axc 
= ab - ac 

(-3m) x -6m - 7n) 

(xy) x (9 + 8x) = xy x9 + xy x 8x 

1 

=(-3m) x -6m) - (-3m) x 7n 

=+18m + 21mn 

(-x) x (4x - y) =(-x) x (4x) - (-x) xy 
= -4x t xy 

(7a + 2b) (a+ 4b) 

(5x-1) (3y -8) 

(-x-y) (- y) 

= 18m² + 21mn 

=9xy + &x'y 

yT-9.3 

(0.7x- 0.2y) (1.5x - 3y) 

(b) 

a'-b + (a + b) (a - ab + b?) 

m² - n'- (m - n) (m + n) 

(d) 
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() 

+b) (a - b) + (a - b) (a + ab + b) 

(h) 

(-6) (4.x + 9) 

(a- b') (a- b) 

(3a² + 5a -9) (3a -9) 

(-5x + 8) (+3) 

(3pq-3q) (3q-7pq) 

(2a + 5b) (3b + 4a) -(7a+36) (2a + b) 



1. 

2. 

3 

4 

5. 

6. 

7. 

8 

9. 

10. 

11. 

12. 

13. 

14. 

15. 

t-3+ 2y =3x + 2y 

2t 2xx= 2x| 
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